8. Alternatif Akimda (AC)
(Siniizoidal Siirekli Durum)
Devre Elemanlan

i(t) = Im-cos(w-t) = v(t) = R-Im-cos(w 1)

v(t) =Vm-cos(w-t) = i(t) = %'cos(a)-v
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Direng, R

Endiiktans
di
i +va -y
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i(t) = Imcos(w-t) =>v(t)=w-LImcos(w-t+90")

V(t) =Vm-cos(w-t) = i(t) =

Vnz -cos(w-t—90° )

Enduktif reaktans XL =@ L =2-7f -L
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Endiiktans, L
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Kapasite
+ vy - . dv
i | =
N

i(t) =1, cos(w-t) = v(t) = ]mC -cos(w-t—90° )

v(t) =V, cos(w-t) =>i(t)=w-C-V, cos(w-t+90°)
1
w-C 2-7-f-C

Kapasitif reaktans X =
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Kapasite, C
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